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Note : ~ Answers may be written ezrher in Englnsh or in Hindi; but the same medmm shou]d bc

. used throughout the paper.

Wﬁ:.wm~wmmaﬁ%ﬁmfﬁaﬁmwwﬁﬂm ﬁfﬁﬁmﬂﬁﬁ
mmmw@ﬁmﬂfm o

Attempt All questions.
wh Wi # W Ak
Section A
(@vg ‘¥) |
1. (@) State whether thé follbWing statements are Tfue or Fals_é (any five) : 5
mﬁﬁmﬁ@amw.ﬁmm,(aﬁéufa)"? o
B A sound deductwe argument is‘one thch is invalid and has all true premlses

qmél‘qﬁfmmaﬁgﬁaa%%eﬁaﬁaéﬁ%aﬂifmﬁwﬂ
awmamw@?f% |

PT.O.



'(2)-' ' v.'szoc'x‘
(i) In the propbsi_tioh “Some ﬂowers are fragrant” bo@ s@bject and predicate terms‘
~are updisuibuted. _

(#if) EIO mood is valid i 1n all the ﬁgures ‘

EIO 3Tee mﬁ :mq#ﬁﬂh # %‘a ‘s‘ﬁﬁ 2
(iv) C.or'wersior_l of ‘O’ ?ropositicm -is'_not‘ pqséil_)le.

o qEEE m ftad ?ﬁﬂa.ﬂﬁ g
) A .';m_d ‘E’ praposiﬁdns-are exisféntiaily pq;iti_ve.

‘A’ aﬁhtE aﬁaﬁa aarm & @l.m éﬁl% |
i) In a cétegpﬁqal syilogiérp middle term decides the t_'}gures.

g R e T ﬁafﬁa-@en t
(vii)) A and E i)fopésiﬁbpg are cc'mtrary to each other.

'Aaﬂtgaﬁa@@@i‘ﬁnﬁa-% \
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(b) Fill in the blanks (any five) :

fon =t % o #if (9 o)

() In a valid categorical syllogism ‘middle term must be distributed at least

............................ in'the premises.

Wéuﬁrﬁawugﬁaﬁanamﬁm ----------- s
Wﬁwmaﬁmﬁq

........................................

................................

Ll L R — pro_posinon
A ?ﬁhﬁq T A 151 SRR ¥
(v) No conclusion gah be drawn from tWo w..cooovcerrrceneen premlses "
a ....... .......... W ﬁ EB:rS‘ ‘lﬂ' ﬁﬁﬁ‘i T(ﬁ ﬁEFT(T'iT G“ gFar

.. PTO.



(w'i)_' Conﬁguration of pfemise and conclusion decidgs ......................................... ofa
sf]logism. |
W 3:?'.{ ‘F-]'EH'GT EFI m Wﬂ'ﬁm & ............ 'EI'EIT(‘I'I
T o
© Answer..brieﬂy (any ten) : o | 20
Ta ﬁwzﬁﬁq (F% TH) :
_. () Name -the variéus relationsﬁips between'A,z'E-, I'anle propositions.
A, E, 13 0 s 8 fafe=t i WY |
(i} Explam ‘distributi_ori of terms’. | | ‘
R e W@ een W | -
(iii). State @e nﬁes of cor.zve.rsim.z. ‘V

4y 5204

)

What are the qﬁality and quantity of a proposition ? |

'Hﬁm‘%_{maﬁr{nﬁmﬁmlwm%?

v)

What is a Figure ?

ewﬁiw% ?
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(v Ex_pla'in.'the féllac{y of ‘;Uridist'ri.l.)uled ﬁliddlé tenﬁs”.
o e R s R )
(Vi) What do you _uﬁ;i.ers.t.and by Mood 7.
JEen ¥ S w T ¥ 2
(viti) What is sylldgism ?
- (ix) Charée tihe_ following irnt;'their‘stand'drd form :
frafafas B =@ afes sl § wef
@ Men are morial. : "
~(b) Teachers ére-ﬁch. '
e o R o |
(x) In 'l;radi:tioﬁz;i Sngre of Opppsi;i-cJ11 if A is true, then wligt cz;n be inferre;d a;bo_u_t
. E, I and O prop‘osition. 7 | . | | |
v ol W § AR A v A 18R o T F AR A __
mmmmm%7 IR

P.T.O.
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. (xi) What is obversion of “All men are mortal” ?

Vgt W oot ¥ w1 uRadd waRy |

(xif) Wthh term is distributed in O proposition ?

O T | a?ﬁm ¢ o ¥ :?

‘Do any three of the following':

Frfafa 4 @ fedl @ 3 SR dfwe -

(i)

(i)

i

(W)

]

Difference between sehtérice and proposition.
Traditional Square of Opmsiﬁon.

v fely e '

Existential Import _

S

Kinds of categorical propoéitions.

el W ® TR 1

(v)

Difference between fa]laéy of illicit major and illicit minor.
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((l'.')v Using ‘Rule method’ find out th'e_. fallacies committed and i;u]eé broken in the'foll()\.ay'ing :

®)-

. arguments(anyrhree)' . - : _ . ” _ 6

ﬁmmmwm@ﬁmﬁf@awwiaﬁuafﬂm

mmﬁmwmm(ﬁé?ﬁ?)

() All—4

#H AEO—1

(i) E10—3

(iv) IAA—4.

Put the fol!dwing syllogism into standard fonh, name t}ie. Figure, Mood and test its validity/ |

_invalidify(anyone)' : - o o - .

_.ﬁmmawmgﬁaﬁa%muﬁiﬁwﬁﬁf@qﬁnmmm

mmﬁg%w/a%mwﬁmﬁﬁq(ﬁ@)

() No musicians are astronauts and all n musicians are actors; thus no astronauts are

actors,

ﬁs‘maﬂﬁaaﬁ#ﬁ%aﬂtwmm% sm%-m._
ﬁ%‘mﬁ&lﬁm?@%:

PTO.
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(i) Some Asians are not Muslims, because some Asians are not Indians and some -

Indians are not Muslims.
5o it s 7 %, i %9 et i d § o g e
.Sectionv B.
(v -
| 4. Explain the following ;vith,e?camples (any two) : | . . | 10
: " Distinguish between falla'éy of Division z_md fallacy of ComPogiﬁon_ E
| (i) | Fallacy of cogﬁlex questi('m.‘ .'
@H—-‘Eﬂ . mﬁ .
(i) Distlinguish_ éetWegn for.mal.ignd informal fallacy.

Srgafe do e Hﬁﬁ"rﬂlﬁ 9| |
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Identify and explain the fullacy in the following (any five): - - .. _ 10

)

(i)

(iid)

Exacily how did you feel th'_:n. Y§u-muidered your son ? o

Aspirin relieves pain since it is analgesic.

e e ¥ i 7w € @ R g

All of us cannot be famous because all of us cannot be well known.

T W fem W R w wiE w v v o aw

vy

)

I'can purchase A or B or C, 'Ihefefore, I can purchase A and B and C.

"ﬁmﬁrAmBmcaﬁ@ﬁamiiwﬁqﬁAaﬂraaﬂtcﬁ_
'@ﬂamﬁn

There is a wéight in everything except fire because Plato said this.

R I W A & i 9w e §

~PT.O.
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(vi) Follow my command; otherwise you have to face the .qonsequenées. o

o T T FG S p— o

(vii) My parents aré poor.,::md ailing. So please give. me passing marks in this subject.
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